Carbon Dioxide and Oxygen cycles

Carbon and Oxygen cycle through environments as solids, liquids and gases.

SOLID CARBON:

All organic (living or once living things) are largely made up of carbon.  Carbon makes up molecules like fat, proteins, and carbohydrates, all of which are consumed when heterotrophs eat.

How does all this solid carbon end up as Carbon Dioxide gas in the atmosphere?

Solid ( Gas

Humans and Animal Respiration – 

Carbon Dioxide ( ____________________) is released by animals when they exhale.  Animals and humans breathe in ________________ gas.  This gas goes to the lungs where it is exchanged for _____________________ gas.  

The Oxygen brought into the lungs goes into ______________________________ in the blood and is taken to all the tissues and organs of the body.

Cells take in the oxygen and use it to perform CELLULAR RESPIRATION.

In this process, the oxygen is used to burn or metabolize food to give the cell energy.

Here is the equation for CELLULAR RESPIRATION:

The products of Cellular respiration (water and carbon dioxide) leave the cell, go into the blood and go back to the lungs to be exhaled.

Combustion and Pollution – 

Wood   +  __________   (  _________________  +  __________________

Gas + ______________ ( __________________  +  __________________

* Notice in Cellular respiration and Combustion reactions, the object is burned in the presence of oxygen and creates Carbon dioxide gas from a solid carbon object.

If we keep burning solid carbon and putting it into the atmosphere as carbon dioxide gas, how do we turn it back so the carbon comes back down?

____________________________ help us recycle the carbon dioxide gas by performing Photosynthesis.

 PHOTOSYNTHESIS happens in the chloroplasts inside the _____________________________________________________ layers of the leaves.

The equation for PHOTOSYNTHESIS is :

· Notice this is almost identical to the formula for cellular respiration but the reactants and products are switched.  In other words, we make what plants need to live and they make what we need to live.  WHAT A GREAT TEAM!

Problems with the carbon dioxide cycle

Too much carbon dioxide in the atmosphere could be trapping the sun’s heat (like a greenhouse does).  This could be causing GLOBAL WARMING.

If Global warming is occurring, what could be some problems?

What are some things people could do to reduce the amount of Greenhouse gases put into the atmosphere?

